
1

2

3

4

5

6

7

8

9
10

16
11

12

13

14

15 18

19

20

22

23

Artikel Nr. BBKSM1

Pos. Anzahl Ersatzteilnummer  Ersatzteilname

1 1 BBKSM101 Gewindebolzen M10x80

2 4 BBKSM102 Plastiklager  

3 1 BBKSM103 Kugellager  6000

4 1 BBKSM104 Getriebewelle

5 1 BBKSM105 Tiefenanschlag

6 1 BBKSM106 Hutmutter M8

7 1 BBKSM107 Kugellager 6002.2RSR

8 1 BBKSM108 Zylinderstift 6 x 20

9 1 BBKSM109 KSM Schwerthalter

10 1 BBKSM110 Spannhebelschraube M6 x 10

11 1 BBKSM111 Distanzscheibe

Pos. Anzahl Ersatzteilnummer  Ersatzteilname

12 1 BBKSM112 Kettenschutz

13 1 BBKSM113 Zahnrad

14 1 BBKSM114 Distanzring

15 1 BBKSM115 Motor kompl.

16 1 BBKSM116 Passscheibe 10 x 16 x1

18 3 BBKSM118 Zylinderschraube M5 x 40

19 2 BBKSM119 Stopputter M10

20 2 BBKSM120 Zylinderschraube  M5x10

22 1 BBKSM122 Getriebegehäuse

23 3 BBKSM123 Senkschraube M5 x 16

24 1 BBKSM124 Mutter M10

Grundmaschine KSM


	Ersatzteilliste KSM 100 (1).pdf

